B8 HF R H it
DHH O PR i 2

<« BiAS (RERZTIERR) %

<« BEE (BBEXILE/BESiTiERE) ot
HegEsL R Lanl i

© REETITEE
KD ES) R &R
J-WET02| SRS | HEgESR | TS | PBT >
OEZ ="
A ERENERSS 3
{HEAEHD(MPa) 0.25~0.7
EFRE(C) 5~50 @
FnE] FEE N wt
N/ T o
o
10 o
: (]
3-D| ]
16
Wt B—0H
RE =
5 BEER| HSO
. EERT | HHEE SO HOGE EE @ @ 8 | D
iv] i SWETD? |z ab |
BRERTS i %8
4 0.5 J-WET02—D4—0.5—S
o Es @ N
N 2N =
J-WET02 95 (R pezEroim i et ¥ Mg | 1~29] 30~
. 0.7 08 iR o i [100% | SRR
1.0 (DBEHEER) REUNGT)
1.2
© R/ e
KB E 4 R MR
s-weTos| spas | mamas |t | mvigss | PeT
OBz " 3
fEFA SRR ERSS 3 .
{EREN(MPa) 0.25~0.7 10 2 v
ERIRECC) 5~50 2032 ' |
T FEE , % , ,,‘?jﬁ?, ©
= T

vy
HL“;
38

19 | 17 |11 3D| ]

BE BEEER| #50
o s -4 KRB Pl
. . BREER SO OIS B @ &
fm | EERT WEDS | DT
BRERT 97
4 0.5 J-WET03—D4—0.5—S
0.7 éi o
05 (HE=E) re—— RBM 21_.35
J-WET03 o | SRS BT 50~
6 07 08 e ot [100% |BiRn
1.0 (DBEEIER) KN CT)
1.2




	页 3

